S9
Lee, Gray, and Winkler, Cu(ll) Binding to a-synuclein, the Parkinson's Protein

7000 =0M 7000 [Cul=0.1 uM
6000 — 6000 |
5000 — 5000 —
4000 — 4000 |
3000 3000
2000 — 2000 |
1000 A 1000 — /\
0 1 0 I I I 1
8.0 8.5 10.0 8.0 8.5 9.0 9.5 10.0
7000 — 7000 -
6000 =0.005 uM el [Cul=0.2 uM
5000 — 5000 -
4000 — 4000 —
3000 3000 -
2000 2000
1000 4 1000 —
0 I I 1 0 I I T 1
8.0 85 95 10.0 8.0 8.5 9.0 95 10.0
7000 | 7000 -
5000 ] =0.01uM s000 [Cul=0.5uM
5000 — 5000 —
4000 — 4000 |
3000 3000
2000 — 2000 |
1000 /\ 1000 —
0 I I 1 0 I I T 1
P(k) 8.0 8.5 95 10.0 8.0 85 9.0 9.5 10.0
7000 | 7000 -
5000 =0.02 uM 5000 [Cul=1uM
5000 — 5000 —
4000 — 4000 |
3000 3000 —
2000 — 2000 |
1000 — 1000 /\
0 I 1 0 I T T 1
8.0 8.5 10.0 8.0 85 9.0 9.5 10.0
7000 | 7000
5000 | =0.03 uM 5000 [Cul=3uM
5000 — 5000 —
4000 — 4000
3000 — 3000
2000 2000
1000 1000 | /\
0 I [ 1 0 I T I 1
8.0 8.5 95 10.0 8.0 85 9.0 95 10.0
7000 | 7000 -
5000 [Cu]=0.05uM 5000 [Cu]=10 uM
5000 — 5000 —
4000 — 4000 |
3000 3000
2000 — 2000 |
1000 — 1000 /\ /\
0 I I 1 0 I
8.0 8.5 95 10.0 8.0 85 10 0

log k (s-1)

Figure 5S. Fits to Trp4 decay kinetics as a function of Cu(Il) added. [F4W syn]=100 nM in 20 mM MOPS, 100 mM NaCl, pH 7.
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Figure 6S. Fits to Trp4 decay kinetics as a function of Cu(Il) added. [F4W/H50S syn]=100 nM in 20 mM MOPS, 100 mM NaCl, pH 7.
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